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— =& 352(10,000km0l &) 2,225,000 «1CH 2,225 4,725 A2,500
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OSUSEEINZBUH 2 (LAIASR)
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03 &AL Z I 2,620 5,000 A 2,380
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301 et a = 20,400 83,100 262,700
09 HALAHIEA S 10,000 14,000 A 4,000
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OZME B +2 0IA8 HAT B4 0 200 A200
OrEd XM MZE AANLs S8 24 0 980 A 980
11IIEtEA S 21,114 27,820 26,706
OMBE SX SHuS A=Y
300,000& x13] 300 600 A 300




SH: SIIBHE
HE: sYUsE HAXE

ST

=]

SRl MIIsES

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
OS2I HE(GAP) =2 NSE A
g 100, 000& *33l 300 500 A 200
Ot =sd EADQME NE ZAsE 0 600 A 600
OzEd XM MZE HALE ZAIE 0 600 A 600
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OAM&EZD| SIOIHESAIE AlY
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402 RI2EX=201 M 200,000 0 200,000
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NJIEEd=s 0 750 AT50
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405 TtabH S| 4,700 5,500 A 800
01 AL ESFH SH 4,700 5,500 A 800
OZ e nadERI(10) 4,700 5,500 A 800
SIHLUHAE S 2 29 530,064 528,434 1,630
101 @124 4] 142,828 141,198 1,630
03 RIHAZ 22 = 53,309 56,679 A 3,370
Ot 22 (1Y) 11,729 15,099 N 3,370
-2 =2 1,374,750 « 18 »4 & 5,499 8,249 A2,750
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